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QUESTION 1

You have a 750 MIB file in an Oracle Cloud Infrastructure (OCI) Object Storage bucket. You want to download the file in
multiple parts to speed up the download using the OCI CLI. You also want to configure each part size to be 128 MIB.

Which is the correct OCI CLI command for this operation? (Choose the best answer.)

A. oci 0s object get —-ns my—namespace —bn my—bucket —name my-large—object —multipart—-download- threshold 750
—rparallel-download—count 128

B. oci os object download —ns my—namespace —bn my-bucket —name my-large—object —multipart—
download-threshold 750 —parallel-download—count 128

C. oci os object download —ns my—namespace —bn my—-bucket —name my-large—object —resume—put
—multipart—-download—threshold 500 —part—size 128

D. oci os object get —-ns my—namespace —bn my—bucket —name my-large—object —multipart—download- threshold 500
—part—size 128

Correct Answer: D

Reference: https://docs.oracle.com/en-us/iaas/Content/API/SDKDocs/cliusing.htm

QUESTION 2
One of your development teams has asked for your help to standardize the creation of several compute instances that
must be provisioned each day of the week. You initially write several Command Line Interface (CLI) commands with all

appropriate configuration parameters to achieve this task later determining this method lacks flexibility.

Which command generates a JSON-based template that Oracle Cloud Infrastructure (OCI) CLI can use to provision
these instances on a regular basis? (Choose the best answer.)

A. oci compute instance create — —generate—cli—skeleton

B. oci compute instance launch — —generate—cli-skeleton

C. oci compute provision—instance — —generate—full-command—json—input
D. oci compute instance launch — —generate—full-command—json—input
Correct Answer: D

Reference: https://docs.oracle.com/en-us/iaas/Content/API/SDKDocs/cliusing.htm

QUESTION 3

Your company has restructured its HR departments. As part of this change, you also need to re-organize compartments
within Oracle Cloud Infrastructure (OCI) to align them to the company\\'s new organizational structure. The following
change is required:

Compartment Team_x needs to be moved under a new parent compartment, Project_B
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| OCI Tenancy (root compartment) | OCI Tenancy (root compartment)

Project_A ‘ Project_B Project_A Project_B ‘

l w— -

Tearn_x—’ Team_X

The tenancy has the following policies defined for compartments Project_A and Project_B: Policyl: Allow group G1 to
manage instance-family in compartment HR:Project_A Policy2: Allow group G2 to manage instance-family in
compartment HR:Project_B

Which two statements describe the impacts after the compartment Team_x is moved? (Choose two.)
A. Group G2 can now manage instance-families in compartment Project_B and compartment Team_X

B. Group G1 can now manage instance-families in compartment Project_A, compartment Project_B and compartment
Team_X

C. Group G1 can now manage instance-families in compartment Project_A but not in compartment Team_x
D. Group G2 can now manage instance-families in compartment Project_A but not in compartment Team_x

E. Group G2 can now manage instance-families in compartment Project_B, compartment Project_A and compartment
Team_X

Correct Answer: AC

QUESTION 4

You have been asked to update the lifecycle policy for object storage using the Oracle Cloud Infrastructure (OCI)
Command Line Interface (CLI).

Which command can successfully update the policy? (Choose the best answer.)
A. oci os object-lifecycle-policy delete —ns —bn

B. oci os object-lifecycle-policy put —ns —bn

C. oci os object-lifecycle-policy put —ns —bn — —items

D. oci os object-lifecycle-policy get —ns —bn

Latest 170-1067-22 Dumps | 120-1067-22 Study Guide | 1Z0-1067-22 Exam Questions 3/4


https://www.leads4pass.com/1z0-1067-22.html
https://www.leads4pass.com/1z0-1067-22.html
https://www.leads4pass.com/1z0-1067-22.html

https://lwww.leads4pass.com/1z0-1067-22.html

Le ad SAPASS 2024 Latest leadspass 170-1067-22 PDF and VCE dumps Download

Correct Answer: C

QUESTION 5

You are working as a Cloud Operations Administrator for your company. They have different Oracle Cloud Infrastructure
(OCI) tenancies for development and production workloads. Each tenancy has resources in two regions — uk-london-1
and eu-frankfurt-1. You are asked to manage all resources and to automate all the tasks using OCI Command Line
Interface (CLI).

Which is the most efficient method to manage multiple environments using OCI CLI? (Choose the best answer.)

A. Use OCI CLI profiles to create multiple sets of credentials in your config file, and reference the appropriate profile at
runtime.

B. Create environment variables for the sets of credentials that align to each combination of tenancy, region, and
environment.

C. Run oci setup config to create new credentials for each environment every time you want to access the environment.
D. Use different bash terminals for each environment.

Correct Answer: B
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